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Risposte

1. 8.938

2. 13.489

3. 7.418

4. 14.428

5. 14.706

6. 14.610

7. 13.625

8. 15.273

9. 14.800

10. 12.297

11. 8.780

12. 13.429

13. 13.504

14. 6.136

15. 14.339

16. 13.145

17. 17.933

18. 13.790

19. 12.811

20. 18.077

Risolvi ogni problema.

1) 7.697 + 1.241 = 8.938

2) 7.068 + 6.421 = 13.489

3) 3.766 + 3.652 = 7.418

4) 9.802 + 4.626 = 14.428

5) 8.276 + 6.430 = 14.706

6) 7.618 + 6.992 = 14.610

7) 8.368 + 5.257 = 13.625

8) 9.338 + 5.935 = 15.273

9) 9.631 + 5.169 = 14.800

10) 8.293 + 4.004 = 12.297

11) 4.673 + 4.107 = 8.780

12) 8.535 + 4.894 = 13.429

13) 7.495 + 6.009 = 13.504

14) 4.260 + 1.876 = 6.136

15) 8.014 + 6.325 = 14.339

16) 7.736 + 5.409 = 13.145

17) 9.127 + 8.806 = 17.933

18) 9.284 + 4.506 = 13.790

19) 9.503 + 3.308 = 12.811

20) 9.871 + 8.206 = 18.077
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Risolvi ogni problema.

14.610 14.800 15.273 8.780

8.938 7.418 14.706 13.489

13.625 12.297 13.429 14.428

1) 7.697 + 1.241 = 8.938

2) 7.068 + 6.421 = 13.489

3) 3.766 + 3.652 = 7.418

4) 9.802 + 4.626 = 14.428

5) 8.276 + 6.430 = 14.706

6) 7.618 + 6.992 = 14.610

7) 8.368 + 5.257 = 13.625

8) 9.338 + 5.935 = 15.273

9) 9.631 + 5.169 = 14.800

10) 8.293 + 4.004 = 12.297

11) 4.673 + 4.107 = 8.780

12) 8.535 + 4.894 = 13.429

Risposte

1. 8.938

2. 13.489

3. 7.418

4. 14.428

5. 14.706

6. 14.610

7. 13.625

8. 15.273

9. 14.800

10. 12.297

11. 8.780

12. 13.429

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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